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Multiplication with Multiples of Ten Name:
Solve each problem. Answers
1 66 2) 89 3) 56
x 70 40 x 30 -
2,
3,
4) 99 o) 30 6) 31 4
X 70 40 X 70
5,
6.
7.
7) 63 8) 32 9 55
X 30 60 X 50 8.
9,
10.
10) 59 11) 69 12) 26 "
x 40 50 x 20 |
12.
13.
13) 35 14) 57 15) 95 14.
X 40 90 X 60
15.
16.
17.
16) 63 17) 27 18) 43
x 80 60 x 30 18.
1-10 |94 ]89|83| 78| 72| 67| 61|56 |50 |44 |
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Multiplication with Multiples of Ten Name:. Answer Key
Solve each problem. Answers
1) 2) 3)
66 89 56 . 4,620
X 70 X 40 X 30
0 0 0 > 3,560
+ 4,620 + 3,560 + 1,680
4,620 3,560 1,680 3 1,680
4 99 5) 30 6) 31 s 6,930
X 70 X 40 x 70 . 1,200
0 0 0
+ 6,930 + 1,200 +2,170 6. 2,170
6,930 1,200 2,170
7 1,890
7) 63 8) 32 9 55
x 30 x 60 x 50 8. 1,920
0 0 0
+1,890 +1,920 +2,750 o 2150
1,890 1,920 2,750 0. 2,360
10 11 12
) 59 ) 69 ) 26 w3450
X 40 X 50 x 20
0 0 0 12. 520
+ 2,360 + 3,450 + 520
2,360 3,450 520 13 1,400
13) 35 14) 57 15) 95 1. 5,130
x 40 x 90 x 60 5 5,700
0 0 0
+ 1,400 +5,130 +5,700 16. 5,040
1,400 5,130 5,700
17 1,620
16) 63 17) 27 18) 43
x 80 x 60 x 30 18, 1,290
0 0 0
+ 5,040 + 1,620 + 1,290
5,040 1,620 1,290
1-10 |94 ]89|83| 78| 72| 67| 61|56 |50 |44 |
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